VA_Pmeter06 38 5x#%20101215.numbers

Vdmm[V] Idmm[mA] Vdisp[V]

1.242
1.242
2.006
3.008
4.03
5.00
6.00
7.03
8.04
9.00
10.04
11.04
1.243
2.010
3.090
4.05
5.08
6.05
7.12
8.10
9.07
10.06

0.00
1.25
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3.02
4.06
5.04
6.06
7.09
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10.16
11.18
12.13
19.62
30.22
39.79
50.1
59.7
70.8
80.9
91.1
101.9
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4.092
5.072
6.077
7.106
8.127
9.079
10.131
11.125
1.306
2.072
3.150
4.115
5.157
6.127
7.205
8.177
9.147
10.146

Idisp[mA]

0.0
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5.0
6.1
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8.2
9.1
10.2
11.2
12.2
19.7
30.4
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50.4
60.2
71.4
81.5
91.9
102.7
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101.1%
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105.1%
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101.9%
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101.5%
101.3%
101.2%
101.0%
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100.9%
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104.0%
99.5%
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